+§x+l:|

)C2







3. 20x* +22x+A = (4x+ B)(Cx +3) & W), ABC o] o= dgre
AL 129

® 40 @ 60 ® 70 @ 90 ® 100



4. o5 A uiEA 2 A0

@ 4a® - 2ab = 2a(a - b)

@ x% +20x—100 = (x+ 10)?
® —x*+1=(x+1)(-x-1)

@ x?-Tx+12=(x-2)(x-6)

® 10x? +23x-21 = (x+ 3)(10x - 7)



X —dx+3 22 -3x-99 FEQA°

a4)

5 o

® x+3

@ 2x-3

® x-1

® x-3

@ 2x+3



6. 2 tax+b S AL (20 +1)(x+1) ©] . oW, a+b &
FsHH?

® -5 @ 5 ® 7 @ -4 ® 4



7.

Cha oo

>~

| x+3y E Q152 7P o, o] of

FA g2
QX2+10xy+my2
® x+y @ 2x+y D 2042
@x+3y @2x+4y



o = .3
=i

® xy(x-y)



9. 3x-20°3x-ax+8 9 AL W, a o G F5HH?

@ 11 @ 12 ® 13 @ 14 ® 15



10.

B<x<29, Vi2+6x+9-2VZrdx+4+ Va2 & 15}
H?

DO -2x-1 @ 2x+7 ® -1

@ 4x+7 ® 4x-1



11. A% a o thalH a® + Ga - 27 9 FAglo] Asolck. a 748 4 Gt
A5 BE gofol

Be



12, |34 ax? + bx+c & U5l skt 5= x 9 A
ZolA
2(x+1) (x-5) 7} =3, Aol 4
(2x 4 5)(x = 3) °] HAct.

=% x>+ Ax+ B & 7 A Bl A0
D (2x-5)(x+2) @ 2(x+1)°
@ (x-2)(x+2) @ (x-2)(x+3)

® (2x—4) (x +5)



B
o]

Bir ofl

@ x+2
@ x-1

o] go]7} 2x? + 5x +2 ©]1L

@ x-2

® x+1

o] Zol7k 2x 4+ 1 2 o

@ 2x-1



14. (3x+1)?-4(2x-3)? = —(Tx+a)(x-b) 4 ™, 2a+b 2] k= oFH?

® -1 @ -3 ® 0 @ 2 ® -2



15. the Ao] SHABAL W, 44 a o G Fotelet

(x+2)(x+4)(x+5)(x+7)+a




[e]
16. x*-10x% +99] 147} ofd Z27

D x-1 @ x+3 @ x2-1

@ x+9 ® x*-10x2+9



tedzt (Ha>0)

2 75

o g

1
a*

IIH5a4_

o]
=

1
a-—-=35

17.






o

2+ V3 ¢
o] gk

19.

Stofet,

:[L

O
=



=

oo

T &4 g2 A2

X -x?4+2x-2=(x-1)(x* +2)
@ xy-x-y+l=(x-1)F-1)
® xy-2x+y-2=(x+1)(y-2)
@ Px+1) -4+ 1) =(x+1)(x+2)(x-2)

® ab+1)-(b+1)=(1~-a)(1+b)



21, -0x% +y% + 6xz— 2% & AFEATHEY (ay - 3x +2)(y + bx + c2)
7} SISk ofu, 4% a, b, ¢ o TH5te] at b+ c O @S Fotm?



a, b, ¢ 7V AAZrE o Al W o] Zold W, b2 +b%c+bc?—ab+-cP—a*c = 0

22.

7o) A o] dololth)



23. x> -9y? —2x+ 18y — 82 QALH3|51H?

@ (x-3y+2)(x+3y+4) @ (x—3y+2)(x+3y—4)
® (x+3y+2)(x+3y-4) @ (x-5y+2)(x+3y-4)

® (x=3y+4)(x+3y-2)



24. T AF a, b7} (a-1)° -4p> =33 S WZT W), 2% (a, b) £
%= 97 2= (T, a > 26 > 0)

@ 174 @ 271 @ 371 @ 47Y ® 570



a?-2ab+b2=9, 6ab+2=-4, a>b

@ 4 ® 9 @ 16 ® 25

1



